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" I should think about my group members more and do things to get
their support. (15 words)
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I feel this way because

— I realized there is always something that I can do for my team. I

gave my teammates advice and they became better players. Before,
I was only thinking about myself, but now I know that teamwork is
— important. (38 words)

(8]

The chart shows that there are many children and elderly people in Hibiya |
City. This plan is great for children because small children can play in the
| kids’ play area and older children can enjoy sports or books. However,

although the population of elderly people is larger, this plan is not attractive —
to them. Only those who like sports can have fun. (62 words)
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